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o= 29,200,000 25,700,000 3,500,000

=9 2,694,280 2,693,054 1,226

2,693,980 2,692,754 1,226

300 300 0

P+ 6,673,968 6,653,194 20,774
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6,511,194 6,511,194 0

9,774 0 9,774

A2ddassY 14,262,000 10,784,000 3,478,000
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300,000 300,000 0

2232 5,569,752 5,569,752 0
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A=z 2 E H &
OXN&EXt= chelE
Ctis X oH A (| AFA = ot
A &2 X = 29,200,000 25,700,000 3,500,000
Rl ul = Al 17,828,533 17,828,533 0
X cl &l 5,356,025 5,396,025 240,000
2 Bkztel | 12,472,508 12,432,508 40,000
ol gl gl Al 136,167 136,167 0
ollgl gl 136,167 136,167 0
HRENAFHE Al 11,185,300 7,685,300 3,500,000
TE= 10,363,000 7,145,000 3,218,000
IAHEX 727,000 445,000 282,000
SI|7HIS 95,300 95,300 0
ol gl gl Al 50,000 50,000 0
ol gl gl 50,000 50,000 0




